Imfs, Kerfy OO0 00

00

a,...,a, cR"O00000A=(a, ---a,) 00000000 OODODOO

fa:R" —R"™ (x+— Ax)
gooadn

Imfs =sp{ay,...,a,}

000000
00
yelmf, 0000 3z € RY)[y = Ax]
T
z=| : |O0DOO
Tn
I
y=(ar - ay) : = r101 +
Ty

"'_l"Ina’nESp{a’la-'-?a'n}

000y e€sp{ay,...,a,} 0000 (Fky,...,k, e R)ly =kia1 + -+ kpa,]

I
T = : Oo0000xeR™O

T

y=ka +---+ka,=(ar - a,)

= Ax Sy €elmfy



gozoo30dagoon

1 -1 2 3
A= -1 0 1 -5 goooooooond fA:R4—>R3DDDD,
2 =5 13 0
Imfa,Kerf, 0000000000,
00
1 =1 2 3\ wum, (1 -1 2 3 1 -1 2 3
A= -1 0 1 —5 | "™ 0o -13 2 |Blo 1 -3 2
2 =5 13 0 0 -3 9 -6 0 -3 9 —6
wimy (1 0]=1 5
P01 -3 2
0 0| 0O
1 —1
dim(Imf,) = rankA = 2, Imfs =sp -1 1, 0
2 -5
godooooooooooo
T
) GKeI’fA I — T3 + 533’4 =0
I3 ZL’Q—3I3+2I4:0
Ty
ry = r3 — 51’4
To = 3x3 — 214
T s — bt 1 -5
— 2t -2
= 2 o 3 =3 3 +¢ (s,t € R)
T3 s 1 0
T4 t 0 1
1 -5
3 -2 .
Kerfs, = sp e 0 , dim(Kerfs) = 4 — rankA = 2
0 1



